+ T

S ]

(—xH )
PEHI FEAERT X L D
V= 2.75 X 28.90 = 79. 48
EIEE LD
V2= 79.92 X  0.10 = 7.99
I 87.47 | m3 87.
FEAERT X L D
yEEiizll V= 0.24 X 28.90 = 6.94 | m3 6.
PRI FEAERT X L D
V= 1.38 X  28.90 = 39.88 | m3 39.
HEL FEAERT X &L 0
V= 0.66 X  28.90 = 19.07 | m3 19.
PEEI R JE AR F E/Hell Vv = 87. 47
PR Vv = 39. 88
+m9H vV = 5.13
Yy = 132.48 | m3 132.
% - B A K+ vV = 0. 00
HE L Vv = 19. 07
>y = 19.07 | m3 19.
b U ( £t + oo ) — ( BKL + HE ) /0.9
V= 132.48 — 19.07 /0.9 = 111.29 | m® 111.




# F I B H = (—5% 1)
H#EE L
A=A JEBAX X v
Al= (10.000 + 10.000) X 1/2 X
(3.390 + 3.540) X 1/2 = 34. 65
A2= (10.000 + 10.000) X 1/2 X
(3.540 + 3.700) X 1/2 = 36. 20
A3= (8.900 + 8.900) X 1/2 X
(3.700 + 3.830) X 1/2 = 33.51
I 104.36 | m2 104. 4
FEYEWr X L Y
HiAzy 2z U—K| V= 0.15 X 104.36 = 15.65 | m3 15.7
(18-8-25BB) | % JA= 7 U — h+EAa L7 J— |
0.18 + 0.15 = 0.33  |m3/m2
FEYEWr X L Y
HIARS V=" 0.93 X 28.9 = 26.88 | m3 26.9
(RC-40)
Vi 783 A= 104.36 — 28.90 X 1.500 X 1.118 = 55.89 | m2
(VP ¢ 50) SO R KA E & (B mfE) H=1.5m #Hkk1. 118 (1:0.5)
N= 55.89 =  3.00 = 18.63 = 19.00 | f@# 19.0
L= 19.00 X  0.62 = 11.78 | m 11.8
WHBsIERS | A= 0.30 X 0. 30 X 19,00 = .71 | m2 1.7
(300 X 300 X 30)
H #Af Al=  3.39 X 0. 50 = 1.70
(RS VAR, t=10mm)
A2=  3.54 X 0.50 = 1.77
A3=  3.70 X 0.50 = 1.85
A= 3.83 X  0.50 = 1.92
= 7.24 | m2 7.2
FEVEW X L Y
K L L= 28.90 = 28.90 | m 28.9
FEYEW X L0
WELay 7 Y—H L= 28.90 = 28.90 | m 28.9
(18-8-25BB)




#HEL av 77 U — F (10m2%4 »)
%
o
S - | a1
i : 3
e \'\.
K |
P
v 'v"j \‘\
P |
\ A =
W P =
4 T
Ll -
\{r;,-' \
400 BEa HU— b
A=0.111m2
4 PR 2t B =X VAR
a7 J—Fk V= 0.111 X 10.000 = 1.110 | m3 .11

(18-8-25BB)




FS ﬁ% T (10m%4 1)

450

4 P it B HAL %K =
a7 U—hk | V= (0.230 X 0.450) <+  2.000
(18-8-25BB) X 10.000 = 0.517 | m3 0.52
il fe A= 0.230 X 10.00 = 2.300 | m2 2. 30
H ks A= (0.230 X 0.450) <+  2.000 = 0.052 | m3 0. 05

(BHIEFE YRR, t=10mm)




Bt

B &

(—x%H )
ar Y — MEEET
SiE HPEmAEREE LY
(RC-40, t=100mm) | A=  79.92 79.92 | m2 79.9
a7 Y — Mtk AT LY
(t=120mm) A= 79.92 79.92 | m2 79.9




A b i oo o =, St
e L 2 - T #
_— = /A S = v 7 U — b & Mm% o= 7 U — b
M R 4 H = (m% 5 NI | [T 5= 5 N | [TETI = S T T = S A ) i FH
(m) (m) (m?) (m) (m) (m?) (m?) (m?) (m?)
NO. 0 NO.O  + 0. 00 0. 00 2.70
NO. 1 NO. 1 + 0. 00 20. 00 2. 80 2.75 55. 00
No. 1+8. 9 NO. 2 + 0. 00 8.90 2. 80 2. 80 24.92
Xl 28. 90 79. 92




o v 7 U — b & O (100m22% »)

\ - = A el »

HE T KK (21-8-25BB)
BEEHE

(150 x 150 x D6)

%o
AN
AN

120

=
2

BT
(RC-40, t=10cm)

4 B af B HAL B &

27 Y—1kK | V= 100.000 X  0.120 = 12.000 | m® 12.00
(21-8-25BB, t=120mm)

100. 000 | m* 100. 00

BHem | A
(150 X 150 XD6)




BED®HEL

it B &

(—xH )
EEY B L T
a7 )—k B Ut EEL Y
BSEwEEEL | V= 79.92 X 0.12 9.59 | m3 9.6
(A7)
SPEERROIET | L= 2.70 +  2.80 5.50 | m 5.5
EPZAESS (No. 0:2. 70m) + (No. 1+8. 9:2. 80m.
(t=15cmlL F)
TEHR LR T
R ColtEEL L1
(7 CoBl) V= 9.59 9.59 | m3 9.6
ALy FREME (Codl) L
(7 CoBR) V= 9.59 9.59 | m3 9.6




¥ =, = Yo
i B L g s = = e
- = v 7 U — b O =27 U — b &M m o o2 v 7 U = k
[ R4 H =3 (m*‘% 5 R ) [T 55 B Yy o | Wrm B B K F&E
(m) (m) (m?) (m) (m) (m?) (m?) (m?) (m”)
NO. 0 NO.O +  0.00 0. 00 2.70
NO. 1 NO.1 +  0.00 20. 00 2. 80 2.75 55. 00
No. 1+8. 9 NO.2 +  0.00 8. 90 2. 80 2. 80 24. 92
aat 28. 90 79. 92




KA HEE HE

A BRI AT O B EER 1T,

T 4 ¥ wo g | owe | 00| Ax o

A1l | 79.5 m3
Rkl 6.9 m3

TR YR 39.9 m3

HEBREL 19.1 m3

T Ty T 34.7 m2
HRELay7)—h 18-8-25BB 3.2 m3

it

MLW.LETEXRET D, KEEH $= A




2u 2 .
w & I § i+ (5% 1)
Vi =
AKERT N=  1.00 = 1.00 | = 1.0
RO T B ¢ 400
L= 35.00 = 35.00 | m
keI L AR 4o H T
= 2.90 +  2.80 = 5.70 | m
N= 570 <+ 1.10 = 5.2 = 6.00 | 1§
V= z/4 X 1.1002 X 1.08 + 1.20
X 6.00 = 5.13 | m®
WSS AT I MG W= 6. 00 2.50 = 15.00 | kg

X
o KM 948 K92, bke/KL




